POLITICAL POLLS
Activity 1
Key Research Herald on Sunday Nov 2011 and June 2012 Polls
Year 13 students were asked to write a media report on the June 2012 poll.
1. Angela wrote the headline: “8% drop in support for National poll finds”
2. Young Joo wrote: “A gain for Labour in latest poll.”
3. A sentence in Kiri’s report reads: 
“There is more support for National among men than women”
	
Test the validity of each of the three claims above.
 (Hint: use the appropriate rule of thumb to estimate the required margins of error. 
Note: Use the VALID Percentages and the numbers of decided voters where given. )
1. MoE NAT  Nov		=3.5%			MoE NAT June   =4.1%
Average MoE= (3.5 + 4.1) ÷2 = 3.8%
Margin of error for difference= 1.5 × Average MoE = 1.5 ×3.8 = 5.7%
Perc. pt. difference :
56.4 – 47.9 = 8.5 perc. pt
8.5p pts
2.8 p. pts
14.2 p. pts

95% CI for difference;    
Meaning in words: 
With 95% confidence we can infer that the drop for National could be somewhere between 2.8 percentage points and 14.2 percentage points.

2.   Gain for Labour  = 30.4 – 24.2  = 6.2percentage points
MoE for difference = 5.7%  (as above)
6.2p pts
0.5 p. pts
11.9 p. pts


With 95% confidence we can infer that the gain for Labour could be somewhere between 0.5 percentage points and 11.9 percentage points.
Claim for a gain is supported since both limits of the CI are positive.

[bookmark: _GoBack]3  Assuming equal number s of men and women = 350
 MoE NAT  Male		=5.3%			MoE NAT female   =5.3%
Average MoE= = 5.3%
Margin of error for difference= 1.5 × Average MoE = 1.5 ×5.3 = 8%
Perc. pt. difference :
44.3 – 36.6 = 7.7 perc. pt
7.7p pts
-0.3 p. pts
15.7 p. pts

95% CI for difference;    
Meaning in words: 
With 95% confidence we can infer that the support for National  among men could be somewhere between 0.3 percentage points less and 15.7 percentage points more than  the support for National among women.
Claim is not supported since it is possible that support is higher among women.

NOTE: The above solution has ignored the problem of the undecided voters since the Valid % column is not given in the gender column.
However, there was actually enough information to calculate it as follows:
Nat Male: #support = 44.3% of 350 = 155             
350 – 12.3% undecided = 350 – 43 = 307                        MoE male =  = 5.7%
Valid % = 155÷307 = 50.4%

Nat Female: #support = 36.6% of 350 = 128
350 – 19.7% undecided = 350 – 69 = 281                         MoE female =  = 6%
Valid % = 128÷281 = 45.6%
Difference = 50.4 – 45.6 = 4.8 p.pts.                      Av. MoE = (5.7+6)÷2 = 5.8%
MoE difference = 1.5 ×5.8 = 8.7%4.8p pts
-3.9 p. pts
13.5 p. pts


However, this level of complication n would be unreasonable in an external at this level.
